For Pierce and Flange
Aerial Cam Unit General Description of UCNBK

( OUTLINE OF UCNBK )
+ High rigidity because of the box structure to keep the Hl UCNBK Structure and Assembly / Disassembly
slider.
+ V-shaped guide.
+ 65, 100 and 200mm are available for the mounting width. UCNBKGSE@
+ Availables angle is 0° to 70° at increments of 5°. 88“5@88 ®
UCNBK65,200:® '
UCNBK100:@)
H Option of UCNBK
@ Key Specification (-K)
UCNBKG65 UCNBK100/200
LKU25-100 (with 2-M8 bolts) LKU32-50 (with 3-M8 bolts)
100 14
3 50 =
50 ‘ 9 ~ ¢
5 58 : ©
53 NI Q% g T Fod-
i =t - By —
3| Sl 12 sl
3, nZN
@ Disassembly method of UCNBK
1) Loosen hexagon socket head bolt (@) and remove plate (UCNBK65:(2 UCNBK100:(9 UCNBK200:13)
@ Metric Key Specification (-KA) and dowel pin (®).
UCNBK100/200 . .
: 2) Loosen hexagon socket head bolt (©) and remove stopper plate (UCNBK65,200:® UCNBK100:@).
LKE25-32-50 (with 3-M8 bolts) )
3) Pull and remove cam slider (D) from cam holder (3) to the rear.
50
125, @ Assembly method of UCNBK
53 1) Assemble components in the reverse order of disassembly.
gEEZ »Make sure that there is no foreign matter on the sliding area and assemble components.
*The clearance between the cam slider and the cam holder is controlled. Match the stamped UCNBK
serial number on the holder and slider before assembly. 65
*When cam is disassembled and then reassembled, please do not forget to assemble all bolts
737 provided. 738
Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.



Aerial Cam Unit

( FOR PIERCE AND FLANGE ) E
UCNBK100-00 \ Travel Working Force kN(tonf) Spring Force N(kgf)| Return | Slider
Standard Allowable Initial Final Force | Weight | Catalog No. w 6
S Working Force |Working Force N(kaf Kk
9254005 (one million strokes) | (300,000'strokes) | Load | Load (kgf) 9
441 88.2 313.3 | 2819.7 3568
20 200 - N
‘ ‘ 4 ¢18¢¢2ﬁ| 28.3 @.5) (9.0) (319) | (287.5) | (364.1) 14.3 UCNBK 100 00
a 32H7 ‘ 2-$16H7
®\ . (k o Q Order \Catalog No.H w \—\ 6 \
@ : fg@/ UCNBK 100 — 00
(] 8 N B Option > For key specification,
E -2l 8 3 t" Optigy Code Specificiigy refer to page 737.
cs]
] K Key attached for holder.
KA Metric key attached for holder.
order UCNBK100-00-K
Refer to page 389 for detailed specifications of
ol @ 160 tapped holes and dowel pin holes (prepared
@AY 100(W) hole, finish hole) for retainer.
= ‘ ‘ ETable of Components M Spring Diagram
o
28.3 ‘ f@ No.| Description |Qty|Material and Remark *Spring used TM30-175 (2 piece)
Travel o ‘ p - : *Spring constant  31.33N/mm (3.19kgf/mm)
m IS] @ () |Cam Slider 1 |FC250 with Graphite Y . N
© —t: c 74 @ |Cam Driver 1 Fc250 Guideline of spring durability 500,000 strokes
] G S 3 |Cam Holder 1 |[FC250 a : Spring Force at punch retraction of 5 mm
Z = — - - e : Spring return amount when the punch returns 5 mm
LT ] B @ |Upper Plate 2 |S45C with Graphite
- N —Ii i t (®) |Positive Return Follower| 2 |S45C(1045) )
= ) i [N Final 2819.7
65 (7 |Stopper Plate 1 [S45C(1045) Load (287.5)
Spring Guide Pin 2 |845C(1045)
120° @ ® |Coil Spring 2 [TM30x 175 o 7(223;17143
\@ Stopper 2 |Urethane Initial 313.3
(1 |Cam Bottom Slide Plate| 1 |S45C(1045 Load (31.9)
4-¢13-420 15 110 b
6.3 ( BWCam Diagram (12 |Cam Bottom Guide Plate| 1 |Bronze with Graphite Length atfnalload 130| | e=7.1
— - @3 |Lower Plate 2 |Bronze with Graphite Length at initial load 170 Initial deflection 5
P Plate 2 |S5400(1020) Free length 175 |
p '{5; ® PR @2 |Screw Plug 2 |845C M12
3 § 7—777%}“;73 & N Bolts for assembly are not indicated. W Space for removing
- ™ i)
T WF 28.3
2-$16H7 ! 40+0.05
fb 140
UCNBK
100
- /
769 770

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved. Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.



Aerial Cam Unit

¢ FOR PIERGE AND FLANGE ) E
\ Working Force kN(tonf) Spring Force N(kgf)| Return | Slider
UCNBK100-05 Trasvel WOSrE(?RdaFrgrce - cﬁlll?r\'uagcl’erce Initial Final Force | Weight | Catalog No. w 6
(onemilionshoies)| 300000 trokes) | Load | Load | N(kgf) | kg
441 88.2 313.3 | 2819.7 3835
225+0.05 -$18- 28.3 15.0 NBK 1
- SH1e-728 (4.5) ©.0) | 31.9) | (287.5) | (391.3) uc 00 | 05
w/,—l-r Q Order [Catalog No.|[ W |—-[ 6 |
N UCNBK 100 — 05
; Y o o g'/; ) Option i For key specification,
} © B u Optigy Code Specificiigy refer to page 737.
0|
O A K Key attached for holder.
%
32H7 125 /e%
60008 KA Metric key attached for holder.
17 240

o 89 °"de" UCNBK100-05- K

e ) - Refer to page 389 for detailed specifications of
0 S’,J gI ‘ | )& /ﬁ tapped holes and dowel pin holes (prepared
‘ yay % 28.3 hole, finish hole) for retainer.
yay % A i .
O el g &J W Table of Components M Spring Diagram
§ ] l No.| Description |Qty/Material and Remark *Spring used TM30-175 (2 piece)
Sl i) : f : *Spring constant  31.33N/mm (3.19kgf/mm)
o E < () |Cam Slider 1 |FC250 with Graphite S ) o
@ Q/</< @ |Cam Driver 1 Fc250 Guideline of spring durability 500,000 strokes
> o a : Spring Force at punch retraction of 5 mm
N Q @ |Cam Holder 1 |FC250 e: Spring return amount when the punch returns 5 mm
@ |Upper Plate 2 |845C with Graphite
< (5 | Positive Return Follower| 2 |S45C(1045) Final 2819.7
= = | 8 @ |Stopper Plate 1 |S45C(1045) Load (287.5)
SI gl ]! E?>| N Spring Guide Pin | 2 |S45C(1045) 23748
! - - a £9/%.0
JAN ./ 50 o (@ |Coil Spring 2 |TM30x 175 (241.8)
) 1) Stopper 2 |Urethane Initial _313.3
4913920 45 199 @ |Cam Bottom Slide Plate| 1 |S45C(1045) Load (31.9) L
o3 ‘ {2 |Cam Bottom Guide Plate| 1 |Bronze with Graphite EM”M“@H_@ ‘
7 G Il Cam Diagram @ |Lower Plate 2 |Bronze with Graphite Length at initial load 170 | Iniial deflection 5
== g Plate 2 |$5400(1020) Free length 175
8 ’{r) 2 |Screw Plug 2 |S45C M12
= S o e .
§ é 77’7’43678 b(/ ~ % m Bolts for assembly are not indicated. WSpace for removing
i RO =]
S ®
s IETNR =
404;0.0‘5
a) 140
2-$16H7
UCNBK
100
- /
771 772

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved. Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.



Aerial Cam Unit

( FOR PIERCE AND FLANGE ) E
: N Working Force kN i i
_ g Force kN(tonf) Spring Force N(kgf)| Return | Slider
UCNBK100-10 Trag/el WOSrE(?RdaFrgrce wCﬁlll?r\'uagcl’erce Initial Final Force | Weight | Catalog No. w 6
(onemilionshoies)| 300000 trokes) | Load | Load | N(kgf) | kg
225-+0.05 441 88.2 313.3 | 2819.7 3537
33.3 13.3 UCNBK 100 10
20 ‘ 200 ‘ 4018426 (4.5) (9.0) (31.9) | (287.5) | (360.9)
7 3 ‘ = ‘ 2-$16H7 ‘. o, [Catalog No ][ W ]~[ o ]
i g # ~€¥ ° UCNBK 100 — 10
BN _l_ L:\e{i g'é _ Option coocificdl [& For key specification,
E : 8 3 Option Code pecitication refer to page 737.
S — %—' { ) 6—-3 8| 8
,7|:_3 I oY ® K Key attached for holder.
&2l )
60+0.05 25 ) KA Metric key attached for holder.
17 240
o order UCNBK100-10-K
4 60
53 \y ? Refer to page 389 for detailed specifications of
‘ tapped holes and dowel pin holes (prepared
hole, finish hole) for retainer.
W Table of Components M Spring Diagram
No| Description |Qty|Material and Remark  °SPring used TM30-175 (2 piece)
- - - *Spring constant  31.3N/mm (3.19kgf/mm)
@ |Cam Slider 1 |[FG250 with Graphite *Guideline of spring durability 500,000 strokes
(@ |Cam Driver 1 |FC250
a : Spring Force at punch retraction of 5 mm
®|Cam Holder 1 |FG250 e : Spring return amount when the punch returns 5 mm
@ |Upper Plate 2 |845C with Graphite
(®) |Positive Return Follower| 2 |S45C(1045) Final 2819.7
(7 |Stopper Plate 1 [S45C(1045) Load ~(287.5)
Spring Guide Pin 2 |845C(1045)
® |Coil Spring 2 [TM30% 175 a« %
Stopper 2 |Urethane Initial 313.3
(@) |Cam Bottom Slide Plate| 1 |S45C(1045) Load (31.9) [
4-$13-¢20 (12 |Cam Bottom Guide Plate| 1 |Bronze with Graphite Lengh i fial oad 130| | e=6.0
83 ‘ @3 |Lower Plate 2 |Bronze with Graphite Length at initial load 170 Initial deflection 5
For Plate 2 [55400(1020) Free length 175
S S BCam Di 2 |Screw Plug 2 |S45C M12
P am Diagram — i
B = {} 9 N Bolts for assembly are not indicated. W Space for removing
Ho =l 2
- ® 1A °
- o N[ @
&
K\:w L
33.
2-$16H7 40005 .
2 140
UCNBK
100
\_ /
773 774

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved. Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.



Aerial Cam Unit

( FOR PIERCE AND FLANGE ) E
\ Working Force kN(tonf)|Spring Force N(kgf i
UCNBK100-15 Travel | gr oo roree 0 (and Spring Foree Mgl Return | Stider
S Work?r?gaFrorce Work‘i,r‘:gv;aFoerce LiideL FREL orce eight atalog No. o
(one millon stokes)| (300,000strokes) | Load | Load | N(kgf) kg
3 2254005 4-918-926 44.1 882 | 3133 | 2819.7 | 3806
2 200 | 2-$16H7 33.9 (4.5) ©0) | 31.9) | (287.5) | (3s8.4) | 190 | UCNBK 100 | 15
C\ ST \{: Q order \Catalog No.H w ‘—‘ 6 ‘
s _T_ L UCNBK 100 — 15
2 g'é . Option p For key specification,
7 3 Option Code Specificgy refer to page 737.
K Key attached for holder.
KA Metric key attached for holder.
o3 order UCNBK100-15-K
o Refer to page 389 for detailed specifications of
v, tapped holes and dowel pin holes (prepared
hole, finish hole) for retainer.
S W Table of Components W Spring Diagram
7 o : *Spring used TM30-175 (2 piece)
o o Desprlptlon s, Mate"a! A Remark *Spring constant  31.33N/mm (3.19kgf/mm)
Q @ |Cam Slider 1 |[FG250 with Graphite *Guideline of spring durability 500,000 strokes
@ |Cam Driver 1 |FC250 a : Spring Force at punch retraction of 5 mm
(3 |Cam Holder 1 |FC250 e : Spring return amount when the punch returns 5 mm
@ |Upper Plate 2 |845C with Graphite
(® | Positive Return Follower| 2 |S45C(1045) Eg:::: 2819.7
(7 |Stopper Plate 1 [S45C(1045) (287.5)
Spring Guide Pin 2 |S45C(1045) « 2450.0 17T
63 @© |Coil Spring 2 [TM30% 175 (249.4)
Initial _313.3
Stopper . 2 |Urethane Load ~(319)
D |Cam Bottom Slide Plate| 1 |S45C(1045) Lengthatﬂnal\oadisor [ es59
4-918-420 45 110 {2 |Cam Bottom Guide Plate| 1 [Bronze with Graphite ‘—’H‘i N !
63 - - Length at initial load 170 Initial deflection 5
‘ @3 |Lower Plate 2 |Bronze with Graphite Free length 175 1
K-
: 45 . Plate 2 |SS400(1020)
””” D BCam Diagram 2 |Screw Plug 2 |S45C M12
3 g @Q .| N Bolts for assembly are not indicated. W Space for removing
— + T 1 I Q
o 1A 1S °
O L@i /\ N ig)
O —1° B
ino‘osl 3.9 N
s 140
© 2-$16H7
UCNBK
100
\_ /
775 776

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved. Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.



Aerial Cam Unit

¢ FOR PIERCE AND FLANGE ) E
/ \ Workin i i
_ g Force kN(tonf)|Spring Force N(kgf)| Return | Slider
UCNBK100-20 Trag/el WOSrE(?RdaFrgrce W cﬁlllpr\'uagcl’erce Initial Final Force | Weight | Catalog No. W 6
{
(onemilionshoieg)| (300000 trokes) | Load | Load | Nikgf) kg
225+0.05 441 88.2 219.3 | 2558.5 3192
30.9 13.8 UCNBK 100 20
20 | 200 | pd15.426 (4.5) (9.0) (22.4) | (260.9) | (325.7)
a 2-$16H7 /. —_
7 ‘ "_.]LW ‘ Q Order \ Catalog No. \ \ w \ \ [’} ‘
i R\ + /I\ O } NN .pe .
- »Qj g'é _ Option coocificdl For key specification,
0 | 8 (V] Option Code pecitication refer to page 737.
2l e B - o T 8| 8
- 1 =1l
I:_‘ e K Key attached for holder.
s l s
O ©

KA Metric key attached for holder.

order  UCNBK100-20-K

Refer to page 389 for detailed specifications of

60+0.05 25 63

18 240

tapped holes and dowel pin holes (prepared
hole, finish hole) for retainer.
W Table of Components M Spring Diagram
n . .
© No| Description |Qty|Material and Remark ~ °SPring used TMS30-150 (2 piece)
- - - *Spring constant  36.55N/mm (3.73kgf/mm)
@ |Cam Slider 1 |[FG250 with Graphite *Guideline of spring durability 1,000,000 strokes
& (@ |Cam Driver 1 |FC250
« (3 |Cam Holder 1 |[FC250 « : Spring Force at punch retraction of 5 mm
- e : Spring return amount when the punch returns 5 mm
@ |Upper Plate 2 |845C with Graphite
g (®) |Positive Return Follower| 2 |S45C(1045) Final 2558.5
3 L (@ | Stopper Plate 1 |S45C(1045) Load (260.9)
2] S i i rié‘é} i Spring Guide Pin 2 |S45C(1045) 1784
" ““‘ i “ (9 |Coil Spring 2 |TM30x 150 W
63 ‘10 190 Stopper 2 |Urethane Initial 219.3 |
< (@) |Cam Bottom Slide Plate| 1 |S45C(1045) Load (22.4) [
(12 |Cam Bottom Guide Plate| 1 |Bronze with Graphite Lenghatfnalload 115) | e=5.2
4-913-420 15 110 @3 |Lower Plate 2 |Bronze with Graphite Length at initial load 147 ‘ Initial deflection 3
63 ‘ Plate 2 |SS400(1020) Free length 150
< 7 2 |Screw Plug 2 |S45C M12
‘@,:,,G,J - M Space for removing
- m Bolts for assembly are not indicated.
gl ¢ @ g B Cam Diagram
O o T 1| |
| ® N
. @ ‘ﬁ
&8 ek
N L [
2-$16H7 \ 400,05 % E
e 140
UCNBK
D 100
777 778

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.



Aerial Cam Unit

( FOR PIERCE AND FLANGE ) E
\ Working Force kN(tonf)Spring Force N(kgf)| Return | Slider
venBiioozs "SY ygmons [\ Mowtle " initiar | Final | Force | weight | CatalogNo. | W | g
(| I
(onemilionshoieg)| (300000 trokes) | Load | Load | Nikgf) kg
a 2ebroce 418926 44.1 882 | 219.3 | 25585 | 3430
@\ 20‘ 200 2-$16H7 32.0 @.5) (9.0) (22.4) | (260.9) | (350.0) 15.0 UCNBK 100 25
ST 7R 7 -
:G} $ {: & Order \Catalog No. H w \ \ [} \
: L - . UCNBK 100 — 25
o n E | 3 9 9 »
2 e 1 € 1388 g'é _ Option soccifical (&5 For key specification,
O | Tl * 3 Optigy Code P refer to page 737.
LA s
e HO K Key attached for holder.
32H7 |25| /63
60+0.05 .
5 240 KA Metric key attached for holder.
63 order  UCNBK100-25-K
gl gl 5‘—1 Refer to page 389 for detailed specifications of
tapped holes and dowel pin holes (prepared
hole, finish hole) for retainer.
8 . .
] W Table of Components M Spring Diagram
R No| Description |Qty|Material and Remark  °SPring used TM30-150 (2 piece)
2 - - - *Spring constant  36.55N/mm (3.73kgf/mm)
N @ |Cam Slider 1 |FC250 with Graphite *Guideline of spring durability ~ 1,000,000 strokes
(2) |Cam Driver 1 |FC250
a : Spring Force at punch retraction of 5 mm
®|Cam Holder 1 |FC250 e: Spring return amount when the punch returns 5 mm
2 @) |Upper Plate 2 |S45C with Graphite
e (5 |Positive Return Follower| 2 |S45C(1045) )
Final 2558.5
(@ | Stopper Plate 1 |S45C(1045) Load (260.9)
Spring Guide Pin 2 |845C(1045)
63 ®|Coil Spring 2 | TM30¢ 150 a %
Stopper 2 |Urethane Initial _219.3
D |Cam Bottom Slide Plate| 1 |S45C(1045) Load (22.4) [
4-$13-$20 15 T (12 |Cam Bottom Guide Plate| 1 |Bronze with Graphite Length atfinal load 115| | _€=5.0
6.3 " @3 |Lower Plate 2 |Bronze with Graphite Length at initial load 147 ‘ nitial deflection 3
e Plate 2 |85400(1020) Free length 150
,{?Q @2 |Spacer 2 |SS400
Py M Cam Diagram @ |Screw Plug 2 [S45C M12 M Space for removing
3 s 7@? Q N Bolts for assembly are not indicated.
ik &
~ A:\»:‘ 32
o’ % i
| —
40+0.05 o
3 q
ED‘ 140 /K/
© 2-$16H7
UCNBK
100
\_ /
779 780

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved. Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.



Aerial Cam Unit

( FOR PIERCE AND FLANGE ) E
\ Working Force kN(tonf)Spring Force N(kgf)| Return | Slider
UCNBK100-30 Travel Standard Allowable Initial Final Force | Weight | Catalog No. W 6
S Working Force|Working Force N(kaf K
(one million strokes) | (300,000'strokes) | Load | Load (kgf) 9
225005 M Cam Diagram 335 44.1 882 | 1754 | 28070 3470 | 455 | ycNBK | 100 | 30
w0 | 200 | -$16-626 . (4.5) (9.0) (17.9) | (286.2) | (354.1)
2 32H7 2-$16H7 (\ - _
- ‘ ﬂ order [Catalog No.|[ W |—| 6 |
N To! a LO UCNBK 100 — 30
3 ! N\ 33
| ‘@{ g gl/é _ Option Speciiical [& For key specification,
N ‘ 8 U | Code PecHc refer to page 737.
2w FH—— -—o-1 3 3 3
E 3 ‘ e i K Key attached for holder.
NN e
O Rt
60-+0.05| 25 é KA Metric key attached for holder.
17 240

order  UCNBK100-30-K

Refer to page 389 for detailed specifications of

tapped holes and dowel pin holes (prepared
hole, finish hole) for retainer.
W Table of Components M Spring Diagram
. : *Spring used TM30-125 (2 piece)
o Desprlptlon s, Mate"a! Al Remark *Spring constant  43.86N/mm (4.47kgf/mm)
N ( |Cam Slider 1 |FC250 with Graphite *Guideline of spring durability 1,000,000 strokes
g § (@ |Cam Driver 1 |FC250
« : Spring Force at punch retraction of 5 mm
% 3am Hg:der ; 22220 h Granh e : Spring return amount when the punch returns 5 mm
pper Plate 5C with Graphite
W/ (®) |Positive Return Follower| 2 |S45C(1045) Final 2807.0
. \@ (7 |Stopper Plate 1 [S45C(1045) Load (286.2)
T S Tl bE R i i i
ol o M el T 2 Spring Guide Pin 2 |S45C(1045)
J "’L% z W“’ : # : ® [Coil Spring 2 [TM30x 125 « e
63 G730 210 Stopper 2 |Urethane Initial 175.4
(@) |Cam Bottom Slide Plate| 1 |S45C(1045) Load (17.9) [
4-$13-$20 ({2 |Cam Bottom Guide Plate| 1 |Bronze with Graphite Lenghatfinalload 93| | e=4.5
» ) 100 @3 |Lower Plate 2 |Bronze with Graphite Length at initial load 123 Initial deflection 2
J ) Plate 2 |$5400(1020) Free length 125
7%1 @ |Screw Plug 2 |S45C M12
o {”b; m Bolts for assembly are not indicated. WSpace for removing
o § D o
B O
2-$16H7 ‘ 40005
9 130
UCNBK
100
- /
781 782

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved. Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.



Aerial Cam Unit

¢ FOR PIERCE AND FLANGE ) E
/ \ Working Force kN(tonf)Spring Force N(kgf)| Return | Slider
UCNBK100-35 Trag/el WS}(@ndaFrd wAlllpwagIe Initial Final Force | Weight | Catalog No. W 6
brabae {one miliostokes)| 300000 okes) | Load | Load | N(kgf) | kg
225+0.05 - -
441 88.2 175.4 | 2807.0 3724
; 200 ‘ 2-$16H7 B3 ) (©0) | (179) | (286.2) | (3800) | 90 | UCNBK | 100 ) 35
C\ ‘{:(‘ ’Q order [Catalog No.|[ W |=[ 6 |
0 1 UCNBK 100 — 35
2 v 77]7 _ 1% g3 3% i For key specification
= K© —o-1 5 9 © g'é . Option e y Sp )
(] [ 18 3 Option Code Specificgy refer to page 737.
o
,‘*(i) K Key attached for holder.
25
32H7 ~ /6%

KA Metric key attached for holder.

order  UCNBK100-35-K

60+0.05

gl g{ Refer to page 389 for detailed specifications of
< tapped holes and dowel pin holes (prepared
o s hole, finish hole) for retainer.
W Table of Components M Spring Diagram
P : *Spring used TM30-125 (2 piece)
8 o Desprlptlon s, Mate"a! A Remark *Spring constant  43.86N/mm (4.47kgf/mm)
R @ |Cam Slider 1 |[FG250 with Graphite *Guideline of spring durability 1,000,000 strokes
(@ |Cam Driver 1 |FC250
a : Spring Force at punch retraction of 5 mm

N 8 ®|Cam Holder 1 |FC250 e : Spring return amount when the punch returns 5 mm

& T @ |Upper Plate 2 |S45C with Graphite
(®) |Positive Return Follower| 2 |S45C(1045) Final 2807.0
(7 |Stopper Plate 1 [S45C(1045) Load (286.2)
Spring Guide Pin 2 |845C(1045)

63 ® |Coil Spring 2 [TM30% 125 o %

Stopper 2 |Urethane Initial _175.4
D |Cam Bottom Slide Plate| 1 |S45C(1045) Load (17.9) [

4-#13-420 (12 |Cam Bottom Guide Plate| 1 |Bronze with Graphite Lenghatfalload 93| | e=4.2

6.3 (3 |Lower Plate 2 |Bronze with Graphite Length at inttial load 123 Initial deflection 2
Plate 2 [85400(1020) Free length 125
B Cam Diagram 22 |Spacer 2 |SS400
S o @ |Screw Plug 2 [S45C M12 W Space for removing
§ E - E{ a0 m Bolts for assembly are not indicated.
2 4 ol
|
N
Bo j &
2-416H7
UCNBK
100
/
783 784

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.



Aerial Cam Unit

¢ FOR PIERGE AND FLANGE ) E
UCNBK100-40 \ Travel Wcs>rking Force kN(tonf) Spri.n.g Force !\l(kgf) Return Slifier
tandard Allowable Initial Final Force | Weight | Catalog No. w 6
S Working Force|Working Force N(kaf K
(one million strokes) | (300,000'strokes) | Load | Load (kgf) 9
225+0.05 . 441 88.2 175.4 | 2807.0 3437
Cam Diagram 39.0 15.8 NBK 1 4
20 200 #1896 u s 9 (4.5) 9.0) | (17.9) | (28622) | (350.7) uc . B
L) o
© 32H7 2-$16H7 r’»\ © 7
7 = —
\’\ N & Order \ Catzog No. \ \ w \ \ 6 \
A 7 Nl e UCNBK 100 — 40
{:} ° k / ¥, oS r
P 3 . N
! v \\'// Option > l&3 For key specification,
B 3y = | Option Specification
2 o E—L—jL— i } - eldss u Code refer to page 737.
f o T 7
E ] ew’ K Key attached for holder.
bl P iy
K2 D
60005 25| /63 KA Metric key attached for holder.

order  UCNBK100-40-K

Refer to page 389 for detailed specifications of

tapped holes and dowel pin holes (prepared
© hole, finish hole) for retainer.
o - -
W Table of Components M Spring Diagram
No. Description |Qty/Material and Remark :gz:::g g:‘;gtam Igﬂgg;\:/fngz(ffgféf/mm)
° @ |Cam Slider 1 |[FG250 with Graphite *Guideline of spring durability 1,000,000 strokes
Q (2 |Cam Driver 1 |FC250
a : Spring Force at punch retraction of 5 mm
% Cam Holder 1 gCZSO a e : Spring return amount when the punch returns 5 mm
® Upper Plate 2 |S45C with Graphite
0 —
< (®) |Positive Return Follower| 2 |S45C(1045) Final 2807.0
(7 |Stopper Plate 1 [S45C(1045) Load (286.2)
Spring Guide Pin 2 |845C(1045)
®|Coil Spring 2 [TM30% 125 « %
Stopper 2 |Urethane Initial _175.4
D |Cam Bottom Slide Plate| 1 |S45C(1045) Load (17.9) [
4-$13-9$20 (12 |Cam Bottom Guide Plate| 1 |Bronze with Graphite Length at final load 93 e=3.6
6.3 15‘ S0 3 |Lower Plate 2 |Bronze with Graphite Length at initial load 123 Initial deflection 2
A — Plate 2 |$5400(1020) Free length 125
% 2 |Screw Plug 2 |S45C M12
8 '%Q: m Bolts for assembly are not indicated. W Space for removing
ol % 1‘\ A
HE ek
e Qi
7‘/:5:’3
2-$16H7 40-0.05
2 120
UCNBK
100
- /
785 786

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved. Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.



Aerial Cam Unit

( FOR PIERCE AND FLANGE ) E
\ Working Force kN(tonf)|Spring Force N(kgf i
UCNBK100-45 Travel g (tonf)|Sp : 9 .( of)| Return Sllfier
s WS}(@ndaFrd wAlllpwagIe Initial Final Force | Weight | Catalog No. W 6
'orkKing Force | Working Force
(onemilionshoieg)| (300000 trokes) | Load | Load | Nikgf) kg
3 225:+0.05 4-$18-926 441 88.2 175.4 | 2807.0 3690
e 422 15.0 NBK 1 4
o o, 200 | 2-$16H7 (4.5) 90 | (17.9) | (286.2) | (376.5) uc 00 | 45
C\ T ‘{:" Q order [Catalog No.|[ W |=[ 6 |
S L A UCNBK 100 — 45
E | "
9 v 7ﬁ+7 (ol dg¢g g'/é ) Option > [& For key specification,
i E 3 S = u Option Code Specificgy refer to page 737.
; S ® L(i) K Key attached for holder.
KA Metric key attached for holder.
order  UCNBK100-45-K
63
o Refer to page 389 for detailed specifications of
*l tapped holes and dowel pin holes (prepared
3 hole, finish hole) for retainer.
W Table of Components M Spring Diagram
. : *Spring used TM30-125 (2 piece)
o Desprlptlon s, Mate"a! Al Remark *Spring constant  43.86N/mm (4.47kgf/mm)
§ @ |Cam Slider 1 |[FG250 with Graphite *Guideline of spring durability 1,000,000 strokes
(2 |Cam Driver 1 |FC250
a : Spring Force at punch retraction of 5 mm
~ ® |Cam Holder 1 |FC250 e : Spring return amount when the punch returns 5 mm
o @ |Upper Plate 2 |845C with Graphite
(®) |Positive Return Follower| 2 |S45C(1045) Final 2807.0
(7 |Stopper Plate 1 [S45C(1045) Load (286.2)
Spring Guide Pin 2 |845C(1045)
63 ® |Coil Spring 2 [TM30x 125 o %
@ Stopper 2 |Urethane Initial _175.4
D |Cam Bottom Slide Plate| 1 |S45C(1045) Load (17.9) [
4-$13-20 15 90 (12 |Cam Bottom Guide Plate| 1 |Bronze with Graphite Length atfinalload 93| | e=3.6
6.3 ‘ 3 |Lower Plate 2 |Bronze with Graphite Length at initial load 123 Initial deflection 2
I
AT . Plate 2 |SS400(1020) Free length 125
& WCam Diagram 2 |Spacer 2 |SS400
s Q* 30 o @) |Screw Plug 2 |S45C M12 M Space for removing
ol S RS
2 4@{?5[ ‘(’»\ I\ Bolts for assembly are not indicated.
. i ©
N Ql
——————— Z ® o
oo D
\
2.416H7 40+0.05
mb 120
UCNBK
100
- /
787 788

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved. Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.



Aerial Cam Unit

¢ FOR PIERGE AND FLANGE ) @
\ Working Force kN(tonf)|Spring F N(kgf; i
UCNBK100-50 Travel Standagr’d AIIow(abIe ) ?"-:-g 0 om::-( ?) Fl‘::tr‘::? V?I:el:;el:t Catalog No w
S Working Force |Working Force| -2 ina g No- 6

(one million strokes) | (300,000 strokes) | Load Load | N(kgf) kg

25005 44.1 88.2 175.4 | 2807.0 | 3669
46.7 16.9 UCNBK 100 50
. 200 4418926 (4.5) (9.0) (17.9) | (286.2) | (374.4)
D 32H7 2-416H7 BCam Diagram Q order [Catalog No.|[ W |—| 6 |
C\ .L > 30 UCNBK 100 — 50
i T iy ~— N A Option = (&5 For key specification,
o (] 4 ; 8 o o t" Option Code Specificgy refer to page 737.
%) 0 e 0 o
2 | g 8e NI
E T o © K Key attached for holder.
v
SRere T AN
© ©
60005 25 /63 KA Metric key attached for holder.
16| 240
order  UCNBK100-50-K
. Refer to page 389 for detailed specifications of
X 7 tapped holes and dowel pin holes (prepared
=) hole, finish hole) for retainer.
& ETable of Components M Spring Diagram
0 : .
< . : *Spring used TM30-125 (2 piece)
o o Degcrlptlon s, Mate"a! Al Remark *Spring constant  43.86N/mm (4.47kgf/mm)
- @ |Cam Slider 1 |[FG250 with Graphite *Guideline of spring durability 1,000,000 strokes
D (2) |Cam Driver 1 |FC250
3 |Cam Holder 1 |[FC250 a : Spring Force at punch retraction of 5 mm
- - e : Spring return amount when the punch returns 5 mm
A @ |Upper Plate 2 |S45C with Graphite
= (®) |Positive Return Follower| 2 |S45C(1045) !
Final 2807.0
(7 |Stopper Plate 1 [S45C(1045) Load (286.2)
Spring Guide Pin 2 |845C(1045)
5 il : ® |Coil Spring 2 [TM30x 125 a %
53 [OZT) 230 Stopper 2 |Urethane Initial  175.4
(@) |Cam Bottom Slide Plate| 1 |S45C(1045) Load (17.9) [ 1
4913420 . o 1 |Cam Bottom Guide Plate| 1 |Bronze with Graphite Lenghatfnal oed 3 |_e=3.2
83 ‘ (3 |Lower Plate 2 |Bronze with Graphite Length at initial load 123 Initial deflection 2
e Plate 2 |$5400(1020) Free length 125
Rl | 22 |Screw Plug 2 |S45C M12
° % @ "{}f m Bolts for assembly are not indicated. WSpace for removing
o o +—] —1 2
T2 QJ
OB
2-$16H7| 40=005
9 120 132
UCNBK
100
- /
789 790

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved. Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.



Aerial Cam Unit

( FOR PIERCE AND FLANGE ) @
\ Working Force kN(tonf)|Spring Force N(kgf i
UCNBK100-55 Travel | grno roree 0 (and Spring Foree Mgl Return | suder |
S Work?r?gaFrorce Work‘i,r‘llgv;aFoerce LiideL FREL orce eight atalog No. o
(one million strokes) | (300,000 strokes) | Load Load | N(kgf) kg
441 88.2 175.4 | 2807.0 3990
3 2254005 4-$18-626 52.3 (4.5) (9.0) (17.9) | (286.2) | (407.1) 17.7 UCNBK 100 55
2 20 200 ‘ 2-$16H7
‘ / g Order \Catalog No.H w \—\ [} \
;@tgmg 7777777777777777 _ 'C; UCNBK 100 — 55
C ‘ g N P Option > [& For key specification,
9 \ 1 Sl g9 Q \'/ Option Specification
o R —= —o— I 9 9 P Code refer to page 737.
0 P (V]
e «;,;4\\ ¢ K Key attached for holder.
X ﬁ({/, [t
32H7 3B 43 :
604005 KA Metric key attached for holder.
0] order  UCNBK100-55-K
6.3
Refer to page 389 for detailed specifications of
&1 tapped holes and dowel pin holes (prepared
S hole, finish hole) for retainer.
W Table of Components M Spring Diagram
. : *Spring used TM30-125 (2 piece)
o Degcrlptlon s, Mate"a! Al Remark *Spring constant  43.86N/mm (4.47kgf/mm)
9 @ |Cam Slider 1 |[FG250 with Graphite *Guideline of spring durability 1,000,000 strokes
& (2) |Cam Driver 1 |FC250
a : Spring Force at punch retraction of 5 mm
~ ®|Cam Holder 1 |FG250 e : Spring return amount when the punch returns 5 mm
= @) |Upper Plate 2 |S45C with Graphite
0| "
- (®) |Positive Return Follower| 2 |S45C(1045) Final 2807.0
| (7 |Stopper Plate 1 [S45C(1045) Load (286.2)
"m’I gr Spring Guide Pin | 2 |S45C(1045) & o
AN <@ (9 |Coil Spring 2 |TM30x 125 W
’ Stopper 2 |Urethane Initial  175.4
4-$13-$20 - D |Cam Bottom Slide Plate| 1 |S45C(1045) Load (17.9) [
83 ‘ (12 |Cam Bottom Guide Plate| 1 |Bronze with Graphite Length at final load 93| | _e=2.9
(@‘ a (3 |Lower Plate 2 |Bronze with Graphite Length at initial load 123 Initial deflection 2
R B Plate 2 [55400(1020) Free length 125
J e :k} B Cam Diagram @2 |Screw Plug S45C M12 )
g 4 ’7@% E 30 m Bolts for assembly are not indicated. WSpace for removing
3 © —
S i
2 R
2-416H7 F—ﬂmi"'“ @ 3
w 120
© e 132
UCNBK
100
- /
791 792

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved. Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.



Aerial Cam Unit

¢ FOR PIERCE AND FLANGE ) E
\ Working Force kN(tonf)|Spring Force N(kgf)| R i
- eturn | Slider
UCNBK100-60 Travel Standard Allowable Initial Final Force | Weight | Catalog No. w
S Working Force |Working Force a a N(kaf ki 6
(one million strokes) | (300,000'strokes) | Load | Load (kgf) 9
225+0.05 441 88.2 175.4 | 2807.0 | 4412
) 600 (4.5) ©0) | (17.9) | (2862) | @s0.2) | 176 | UCNBK | 100 | 60
20 200 4-$18-26 lCam D|agram
L2 32H7 2-$16H7 o —_
@\ 30 & Order \ Catalog No. \ \ w \ \ [} \
T > UCNBK 100 — 60
OtL ,,,,,,,,,,,,,,,,, f 5 b
i o g' 2 Option y l&3 For key specification,
- : 8 al e Option Specification
2w E,, D_(T HEE: 2 8 (V] Code refer to page 737.
E T | © K Key attached for holder.
e kL O e
60005 53 KA Metric key attached for holder.
16 240
o order UCNBK100-60-K
Refer to page 389 for detailed specifications of
| .
3 S[ < tapped holes and dowel pin holes (prepared
; ° 0 hole, finish hole) for retainer.
| S . .
] 9 W Table of Components M Spring Diagram
! - . : *Spring used TM30-125 (2 piece)
& 5 Desprlptlon aty Mate"a! L Remark *Spring constant  43.86N/mm (4.47kgf/mm)
& @ |Cam Slider 1 |[FG250 with Graphite *Guideline of spring durability 1,000,000 strokes
\ (2) |Cam Driver 1 |FC250
Q 3 |Ccam Holder 1 |FC250 a : Spring Force at punch retraction of 5 mm
\ S - - e : Spring return amount when the punch returns 5 mm
= TS\ o © @ |Upper Plate 2 |S45C with Graphite
2 (® |Positive Return Follower| 2 [S45C(1045) Final 2807.0
Y \L /@ 1 (7 |Stopper Plate 1 [S45C(1045) Load (286.2)
'rhlma % LD] Spring Guide Pin 2 |S45C(1045)
Q IR (RN
8 T S © |Coil Spring 2 [TM30x 125 «
63 240 Stopper 2 |Urethane Initial 175.4
(@) |Cam Bottom Slide Plate| 1 |S45C(1045) Load (17.9) [
(12 |Cam Bottom Guide Plate| 1 |Bronze with Graphite Lengt'atfinal 0ad 93] | e=2.5
4-$13-420 15 80 (3 |Lower Plate 2 |Bronze with Graphite Length at initial load 123 Initial deflection 2
6.3 Plate 2 |SS400(1020) Free length 125
a7 @2 |Screw Plug 2 |845C M12
R 0 m Bolts for assembly are not indicated. WSpace for removing
o § RIS
25 ')
ik ©
2-$16H7 134
UCNBK
100
- /
793 794

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved. Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.



Aerial Cam Unit

¢ FOR PIERGE AND FLANGE ) E
UCNBK100-65 \ Travel Working Force kN(tonf)|Spring Force N(kgf)| Return S|i.der
s Wosrf(@r?daFrgrce W:rlllpr‘luagcl)erce Initial Final Force | Weight | Catalog No. W 6
(| I
(onemillio?lslrokes) (300,000gslrokes) Load | Load | N(kgf) kg
a 225000 4-$18-926 44.1 88.2 175.4 | 2807.0 | 4977
Q\ zo‘ 200 ) 2-$16H7 70.9 @.5) (9.0) (17.9) | (286.2) | (507.8) 17.0 UCNBK 100 65
|
ST ra z -
£o 1Y I o) € o [comoa ol W |-[ 0 |
C T & Y ] UCNBK 100 — 65
[ :—— g )
g 9l (- } aral g 8 o T /@ >\'/4 - Option — [& For key specification,
(] ] | @ o ?‘l ] 3 Optigy Code pe refer to page 737.
{j} ”””””””” 5 N = ‘ =
/ J 0 I T—@ K Key attached for holder.
- |_‘:|. y
32H7 25| 63 I:
60=0.05 140 | .
KA Metric key attached for holder.
16 240

®9 3
order UCNBK100=65 - K

Refer to page 389 for detailed specifications of

S’rl o tapped holes and dowel pin holes (prepared
T © hole, finish hole) for retainer.
R W Table of Components M Spring Diagram
2\@ inti i *Spring used TM30-125 (2 piece)
1 %/@ i Degcrlptlon Qi Mate"a! and Remark *Spring constant  43.86N/mm (4.47kgf/mm)
\ @ |Cam Slider 1 |[FG250 with Graphite *Guideline of spring durability 1,000,000 strokes
\ @ < (2) |Cam Driver 1 |FC250 s . A .
~ R, O g « : Spring Force at punch retraction of 5 mm
NG NS a\\ & ® |Cam Holder 1 |FC250 e :Spring return amount when the punch returns 5 mm
~ N 62 N @) |Upper Plate 2 |845C with Graphite
X ] 8 (8 | Positive Return Follower| 2 |S45C(1045)
: . Final 2807.0
S e N (@ |Stopper Plate 1 |S45C(1045) Load (286.2)
%] gl il 3 ii Spring Guide Pin | 2 [S45C(1045)
AV (A ‘ % ®|Coil Spring 2 [TM30% 125 « %
) " 2 Stopper 2 [Urethane Initial 1754
25539 @D |Cam Bottom Slide Plate| 1 |S45C(1045) Load (17.9) [
4-613-620 (12 |Cam Bottom Guide Plate| 1 |Bronze with Graphite Length atfinal load 93| | _e=2.1
o5 15‘ 80 (3 |Lower Plate 2 |Bronze with Graphite Length at initial load 123 |nitial deflection 2
: 1
s BCam Diagram Plate 2 |S5400(1020) Free length 125
Q@? -, @2 |Screw Plug 2 |845C M12
8 o~ m Bolts for assembly are not indicated. WSpace for removing
i 18 o e
2 g 5
. Q o
,,,,,, N ) 2 3 o
o T\ ¢
-
2-$16H7 2004 T 149
B 110
s
UCNBK
100
\_ /
795 796

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved. Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.



Aerial Cam Unit

( FOR PIERCE AND FLANGE ) E
/ \ Working Force kN(tonf)Spring Force N(kgf)| Return | Slider
UCNBK100-70 Trag/el WS}(@ndaFrd wAlllpwagIe Initial Final Force | Weight | Catalog No. W 6
'orkKing Force | Working Force
(onemillio?l strokes) (300,000gslrokes) Load | Load | N(kgf) kg
441 88.2 548.3 | 27415 5625
225+0.05 58.5 15.9 UCNBK 100 70
i (4.5) (9.0) (55.9) | (279.6) | (574.0)
20 200 4-$18-926 BCam Diagram
20 7,
3 32H7 2-$16H7 ~ Q Order \Catalog No. H w \—\ [’} \
K - i _ UCNBK 100 — 70
””” il E— ] s\ |2 . Bz oo Option — [5 For key specification,
O an | g o N 3 Option Code pecitication refer to page 737.
e ﬁ il D—ﬁ $I 8 8
h 4[ ! a2 e
E ; © K Key attached for holder.
N @
Sl ©
60+005 25| /e% KA Metric key attached for holder.
16 240
o order UCNBK100-70-K
Q.
>
63 \y ? @ o Refer to page 389 for detailed specifications of
o s 5 ~ tapped holes and dowel pin holes (prepared
& e NEi o hole, finish hole) for retai
° = o 11 D b 2 ole, finish hole) for retainer.
® i . .
W Table of Components M Spring Diagram
0 No| Description |Qty|Material and Remark  °Spring used TM30-100 (2 piece)
i - - - *Spring constant  54.83N/mm (5.59kgf/mm)
@ @ |Cam Slider 1 |[FG250 with Graphite eGuideline of spring durability 1,000,000 strokes
g (2 |Cam Driver 1 |FC250
N a : Spring Force at punch retraction of 5 mm
> % Eam Hs:dfr ; 225220 it Grapnit e :Spring return amount when the punch returns 5 mm
o pper Plate with Graphite
= (®) |Positive Return Follower| 2 |S45C(1045) Final 2741.5
Inal .
- (7 |Stopper Plate 1 [S45C(1045) Load (279.6)
o T‘FW = Spring Guide Pin 2 |S45C(1045)
"’] . i ®|Coil Spring 2 [TM30x 100 .
A I$ Stopper 2 |Urethane Initial 548.3
(@) |Cam Bottom Slide Plate| 1 |S45C(1045) Load "(55.9) [
4-613-420 (12 |Cam Bottom Guide Plate| 1 |Bronze with Graphite Length at final load 75| | e=1.7
—= 15 @3 |Lower Plate 2 |Bronze with Graphite Length at initial load 95 Initial deflection 5
&3 \ Plate 2 |$5400(1020) Free length 100 |
[O-@ @] Screw Plug 2 [S45C M12
J4 B o m Bolts for assembly are not indicated. WSpace for removing
<1 koL
< 8 -
OR
2-$16H7 40=0.05 4o
o 110
UCNBK
100
\_ /
797 798

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.



